PVINSBECUENGESEER ] CVINS VS SN [ Eh SR

OBFERIG O R (BEAZ:H)
TF 2T AR—=IZ 2
;o ot 50%?} LR M 720 2,510 7,530
;Tﬁg;fggg%{ 1B Y 7= 0 95,100 125,500
(WAL H)
i B 4 X 53 H A Bl 4
S kT LIRFfA] 720 24,000
TT 2T AR =Y 950 % AT 1IREfH 24720 12,500
SR T LIHE A | 0% S 1R 720 10,400
- .- - f 20 % ALK 15%%%7”:@ 6,280
en £ LRFRE] Y720 120,400
TIFaT AR —Y 950 % ALAT 1RFf 4720 62,800
VSMCHER 256 | K40 % & 4T 1R 24 720 52,300
20 % FLAT LRFRET Y720 31,400
Aa7 R —R LIRFfA] S 720 1,570
BB A O R
i B 4 HAAL B &
AEBN - B EH L= 1R Y 720 170
= i £ 1 Rf Y 720 440
mwoB R’ E 1= 1R Y 720 130
e B & 1= 1R Y 720 80
=

X BECOM AL, RA B TR EE B L ORA & T2 E RO B TS

ZOMDOGE X, RO 3ENH Y T 252 MAE L E T,

X PR R D TASHB I - B BB 55 ) Lid, ATBRE - R B, k-

BTV RF—N—BRBIOI YT —EDIEENNVET,

FLERE, = LR BEFE, /77

Pt B i (BEAL:H)

fite B 4 % = H A £ 4
R i 1K 1X1FE Y72 4,190
WNOT AT = 2% 1H 1\ Y 72D 3,140
YTy — A= 3H 1B1HEHE7%Y 390
TA— T 4T Tk 3 1HE1E Y72 470
T A= T 47 P E TR R 3fH 1H1E Y72 260
Bk (OK) 45 1H1E % 72D 670
Bk k ()N) 46 1H1E Y72 310
WAL EF 7 =2 A 17540 1A 1B Y 720 280
SN 14 1/ 1FE Y72 230
BENA AT R—F 2% 1H1E Y72 380
R—Fy)— 2% 1B51H 48720 380
PP ER R A R 3 1E1E Y720 250
RIANR—R 15 1H1EY 7Y 200




